TTEA) - HHIRESIRHE Worksheet C - Compare Nutrition Labels

EEZE Lemon Tea A

E1ESE Lemon Tea B
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Nutrition Information Nutrition Information
100 EH £ 100 EF
Per 100 mL Per 100 mL
AEE Energy 20 F keal AES Energy 40 F keal
ZEHE Protein 0%=g EHE Protein 0%g
#8P8EH Total Fat 0%y #8A8R5 Total Fat 0% g

- BEF0AERS Saturated Fat 05 ¢
- R=CRERS Trans Fat 0% g

k7KL &4 Carbohydrates 57 g

) 7
Tk "
= B0

/]

- BFAEER Saturated Fat 032 g
- R=UAERS Trans Fat 0% g

k7Kt 549 Carbohydrates 10 58 g
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- # Sugars 5% g ﬁ::i i - ¥ Sugars 105 g
M Sodium 15 25 mg #h Sodium 15 2% mg
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Q1. The amount of sugars in per (i) ml of Lemon Tea A is (ii)
(iii) ml of Lemon Tea B is (iv)
sugars content can be compared directly. Lemon Tea (v)

8% Biscuits A

ZEE¥ Nutrition Information

g. Since both lemon tea have same reference amounts, their

has lower amount of sugars.

8% Biscuits B

EZE ¥l Nutrition Information

g. The amount of sugars in per

HSERIRASEHE
No. of servings per package : 3 £100 72
BRDE Serving Size : 25 55 g (5 ¥t pieces) Per 100 g
sERsE HEE Energy 470FFK/keal
Per Serving
= .
BEE Energy 121FR/keal HHE Protein 10.752/g
EHE Protein 2.4%5/g #2RERA Total Fat 15.75%/g
#8RERL Total Fat 51%/g B - BFNRERR Saturated Fat 5.555/g
= 0. ! A0 . (o
- BBFNRBRS Saturated Fat 26%/9 .)})mué%l\/ _ &:—EtHEHB Trans Fat 0 % g
- K= BB Trans Fat 0 e
o il =9 fix7kK{b &%) Carbohydrates  71.45%/g
fix7kK{L &%) Carbohydrates  16.358/g N A
X - ## Sugars 1.158/g
- f Sugars 0.558/g
$ Sodium 2008838/mg # Sodium 220%58/mg
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Q2. Each serving ((vi) g) of Biscuits A contains (vii) mg of sodium. Per(viii) g of

Biscuits B contains (ix) of sodium. Since Biscuits A and Biscuits B have different reference
amounts, their sodium content cannot be compared directly. To convert the reference amounts of two biscuits
to same weight (i.e. 100g), the reference amount of Biscuits A will increased by (x) __ times to 100 g and its
amount of sodium will also increase by (xi)___ timesto (xii)__ mg. Based on same reference amount,

Biscuits (xiii) has lower amount of sodium.



